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H30EE| RIT R2 R3 R4 48 5H 6 A 18 8H 9H 108 | 11A | 12AR 18 2H 3H 48
mm | 123 (122 (1015 [ 140 [ 1.31 | 1.44 [1.27 |1.25 [1.42 [ 1.26 |1.20 | 1.42 [1.32 | 1.32 | 1.34 | 1.27 | 1.19 | 0.99
RS #m | 132|133 |1.12{1.30 |1.34 | 1.35 | 1.35 |1.34 [1.36 [1.35 [1.35 |1.36 |1.35 |1.37 |1.36 | 1.30 | 1.26 | 1.21
2@ | 1.62 [1.55 [1.10 | 1.16 | 1.31 | 1.24 |1.25 [1.27 | 1.28 | 1.31 |1.32 |1.34 | 1.35 | 1.36 | 1.35 | 1.34 | 1.32 | 1.32
mem | 1,85 [1.93 [2.01 [2.43 [2.62 | 2.17 |1.94 |2.22 [3.35 [ 1.89 |2.79 | 2.82 [2.03 |3.15 | 2.35 | 2.15 | 1.80 | 1.36
fﬁgi;{;‘j;ﬁ 8 | 1,92 [1.05 [1.88 [2.13 1221 | 2.23 [2.25 [2.19 [2.30 | 2.23 |2.27 [ 2.27 | 2.20 | 2.35 | 2.21 | 2.04 | 2.07 | 1.92
2@ | 2.42 [2.35 [1.90 [2.08 |2.30 | 2.20 [2.24 [2.24 [2.32 12.30 |2.30 [ 2.33 [ 2.38 | 2.38 | 2.38 | 2.32 | 2.29 | 2. 23
mERKE 2= | 24| 24| 28| 28| 26| 26| 26| 26| 26| 25| 26| 26| 25| 25| 24| 26| 28] 26
%égf,%ff& 2@ | 167 | 162 192 | 195 | 179 | 188 | 181 | 186 | 176 | 177 | 187 | 178 | 165 | 158 | 164 | 174 | 193 | 190
g | P S {132 01.60|1.95] 1.64 | 1.46 | 1.44 | 1.61 |1.46 |1.50 | 1.62 | 1.54 |1.57 |1.57 |1.45 |1.39 |1.18
OFRBED | xm | 142 |1.42 [1.18 [1.36 | 1.43 | 1.43 | 1.43 |1.42 |1.44 | 1.43 |1.44 | 1.44 | 1.44 | 1.46 | 1.45 |1.40 [1.37 |1.31
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2. RN REDER MR ARG, REH A
= AR MREE K
COARBEMRAY
= ERR AR
5,000
1.42
1.44 I
4500 1.42 1.50
4,000 1125
3,500 2 137 3194 \fg
3,000 2,861 2,905 i 2847 2902 I 2924 5798 2865 2865 2859 - 1.00
' — I = I N — = o —] 2,56
2500 2208 L oo5e| |-2315] |, 2,261 2:249  |-9.57 2260 | 20 2’27—
' __ ] — | 7] g I O el O e I PR T 2,143 T . 1075
2,000 — l || =
1500 — - 050
1,000 — —
0.25
500 —
0 1 1 1 1 1 0‘00
4%4F  4%5H  4F6H  4FTA 4F8A  4F9F  4F108 4FENB  4F12B 5H1B 5428 543A  544R
448 | 4558 | 4568 | 4978 | 48P | 4598 | 4108 | 4118 | 45128 | 5518 | 5528 | 5438 | 5448
RIS 3 963 454 475 338 437 393 414 415 288 428 513 491 603
BIRBER 2,268 | 2,256 | 2,315 | 2,215 | 2,261 | 2,249 | 2,257 | 2,220 | 2,116 | 2,143 | 2,264 | 2,402 | 2,565
R AH 1,223 880 | 1,056 | 1,131 824 | 1,097 | 1,169 843 907 | 1,004 | 1,104 886 820
AR AH 3,277 | 2,861 | 2,905 | 3,137 | 2,847 | 2,902 | 3,194 | 2,924 | 2,798 | 2,865 | 2,865 | 2,859 | 2,537
BT 375 431 523 348 417 426 383 388 315 395 489 482 395
FRH 238 206 169 159 152 153 157 137 158 156 159 249 189
PB4 28 260 206 202 174 168 170 190 159 165 170 173 254 206
FRELEE (%) 46. 2 45.4 | 42.5 | 51.5 | 38.4 | 43.3 | 45.9 | 38.3 | 57.3 | 39.7| 33.7| 5117 34.2
7R E (%) 19.5 23.4 | 16.0 ( 14.1 | 18.4 | 13.9 | 13.4 16.3 | 17.4 | 15.5 | 14.4| 28.1 23.0
3. ERRIRDENF
EDERRE RAFE - mmEHFREREE - —+—ERRRRIFE - ——ERRRREFE
788
800 5
750 |
700 | 757
650 |
600 |
550 |
500 |
450 |
400 | 238
350 |
300 290 278 27 246
250 218 262 261977 273 213 288 238
200 |
150 | 137 103 140 1o 214, ' 143 1
100 78
50
0
4H 5H 6H 718 8H 9A 10 115 121 18 2H 38
4548 | 4558 | 4568 | 4978 | 4%8F | 4498 | 4108 | 4118 | 45128 | 5518 | 5428 | 54378 | 5448
BERISHH 520 199 288 269 218 213 222 255 195 223 226 304 448
BERREAHH 1517 218 262 213 269 246 213 218 213 288 238 338 188
SHMEBBE 29 1 16 12 ) 13 10 10 8 6 1 28 13
BB 3T A28 608 225 205 203 249 198 210 160 159 242 188 269 630
CRNRALHS 241 218 | 137 | 103 | 177 | 140 | 151 134 78 | 149 | 143 | 159 | 290
ZEERAR 403 403 428 417 475 451 419 433 419 398 388 376 397
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KR ANfEERIL, ZHE 7

5 B B 7 2 A & B A |MERAL (%)
kIA F R R BB A B B 603 491 563 1.1
Ble &% KkBEY 2, 565 2, 402 2,268 13.1
kI|C # OB K A # 820 886 1,223 A 33.0
AD & 3 kK A # 2,531 2,859 3,271 A 22.6
mE B N # B 395 482 375 5.3
ey ERGBEBRZHE 93 106 86 8.1
TF xR # = 189 249 238 A 20.6
slc 8 B OB oM 206 254 260 A 208
Bk ERBRBRZ®HE 64 62 59 8.5

O OR AN E (C/A) 1.36 1.80 2. 117 A 0.81P
£lm s s A= 0B 0.99 1.19 1.44 A 0.46P
%= B OB E (G/AX100) 34.2 o1.7 46. 2 A 12.0P

B OE 23.0 28. 1 19.5 3.9
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5 B B 7 2 A meE mA | PFRAK
A # R KRB B A B % 288 201 245 17.6
B.AH % XK B & ¥ 1,237 1,123 1,021 21.2
C.#H ®H K A % 307 334 485 A 36.7
D. & % kK A # 983 1, 304 1, 301 A 244
E#8 T % % 167 210 140 19.3

ERBRRZHE 30 40 21 42.9
FRE B # % 92 138 121 A 240
G M B # # 109 141 129 A 15.5
ERBRBRZ®HE 25 31 19 66. /
A K AN fF E(C/A) 1.07 1.66 1.98 A 0.91P
B %K A& E(D/B) 0.79 1.16 1.27 A 0.48P
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5 B < 7 % g 5 = m A |maemp |MFRAK
oA EREERHK 11 8 9 22.2
SRR 0 3 13| A 100.0
AXBEEREEFR 1,723 1,713 1,702 1.2
Z % BB E N 448 250 198 304 520 A 13.8
Z % ® % E B 788 336 452 338 757 4.1
SEEEETHE 73 12 61 28 29 151.7
AXABERBRREH 25, 706 14, 484 11,222 26, 052 25, 771 A 0.3
7 .FE FRIEHE T ERTAR R
. 1 X % g = - s B s & @ W(EEH)H:
| zeamrEan 201 68 133 126 169 18.9
g @ EE AB 352 138 214 349 380 A T4
B mem TR 40, 826 17, 472 23, 354 42,918 41,534 Al7
| BREHRE MM 88 64 24 33 72 22.2
5l 2 @# B M 45 28 17 27 23 95. 7
B %@ (F M) 8, 484 5, 635 2. 850 4,764 5,151 64. 7
" THERREHH 1 1 0 0 0 -
g @ B A 0 0 0 0 0 -
" XHe®E(FAH) 0 0 0 0 0 -
a| g | 2B AR 34 15 19 57 42 A 19.0
o *#e@(FA)| 10,697 5,710 4,987 15, 338 11,514 A 71
AENELEN 31 13 18 40 32 A 31
| [ FE[preEGm)] 10,176 5, 345 4. 831 12,614 10, 275 A 1.0
A EE R 3 2 1 13 9 A 66.7
Bl EEilzeem T m) 522 365 156 2,181 1,217 A 57.1
e m # = 61 24 37 80 60 1.7
Bly o | BETEAR 171 148 23 452 170 0.6
i X2 %E(FA) 4,673 4,203 470 14, 605 4, 454 4.9
N FREEAA 268 31 237 259 247 8.5
| |[BRAE 55 A& K 4 4 0 2 - -
" xwe@E(FA)| 28 735 5, 275 23, 460 29. 090 26, 755 7.4
"A £ B 5 & 0 0 0 2 1| A 1000
o | R
X2 %E(FA) 0 0 0 138 81| A 100.0
AP ELEY" 2 2 0 3 A 33.3
- X2 %E(FA) 66 66 0 152 A 56.6
3 |20 2% 5 1 4 6 A 16.7
4 i o 500 92 408 185 473 5.7
Bl g 28 F M 0 0 0 2 0 -
i Erpamrm) 0 0 0 555 0 -




